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Dy = 115 mm, Dy — 111 mm, Ds — 96 mm, Dy — 79 mm
H, =11.50m, Hy=536m, Hy=649m, Hy,=500m

Dy =115mm, Dy =111 mm, D3 =96 mm, Ds="T79 mm
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Dy =270 mm, Dy = 245 mm, D3 =207 mm, h, = 7.96 m
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D, =186 mm, Dy =143 mm, D5 =120 mm, D4 = 88 mm : 4l
Hy =5.00m, Hy;=6.86m, Hs;=12.06m :<

Dy =200 mm, Dy =150 mm, D3 =125 mm, D, = 100 mm T
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Dy = 438 mm, D, = 326 mm, D3 =375 mm, D, =180 mm : -
h,=6.63m | -

H, =5.6"m, Hy=506m, H3=500m o

Dy =500 mm, Dy =320 mm, D3 = 350mm, D, = 150 mm T
h, = 6.63 m

H,=593m, H;=528m, H3=500m :>

Dy = 408 mm, D, = 314 mm, Ds= 316 mm, D, = 235 mm :
D5 =239 mm, h,=6.74m

Hy =571m, Hy=524m, H3=526m, Hy=501lm <

Dy =500 mm, Dy = 300mm, Ds=300mm, D,=200mm T
D5 = 200 mm, h, = 6.56 m

Hl = 619m, Hg = 5.60 m, H3 = 5.62 m, H4 =5.00m :»

Dy = 408 mm, D, =239 mm, Ds= 331 mm, D, =185mm : 4l
Ds = T4 mm, Dg=213mm, h,=6.73m

Hy =570m, Hy=545m, H3=521m, Hy=501lm o

Dy =500 mm, Dy =200mm, Ds=320mm, D, = 150 mm T
D5 =50 mm, Dg =200 mm, h,=629m
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D, =408 mm, Dy = 335 mm, D5 =270 mm, Ds= 311 mm : !
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h, ="7.04m
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D{ =500 mm, Dy =320 mm, Ds=250mm, D, = 300mm T

D5 = 200 mm, Dg= 150 mm, D; =250 mm, Dg= 200 mm
hy, = 6.89 m

Hy =6.52m, Hy=584m, H3=53bm, Hy=601m :»
Hs; =547Tm, Hg=5.00m
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20 | 998.2 1.007 x 106
25 1 997.1 0.897 x 1076
30 995.7 0.804 x 1076
35 994.1 0.727 x 1076
40 | 992.2 0.661 x 107©
45 1 990.2 0.605 x 1076
50 | 988.1 0.556 x 1076
55 985.7 0.513 x 1076
60 | 983.2 0.477 x 1076
65 | 980.6 0.444 x 1076
70 | 977.8 0.415 x 1076
75 | 974.9 0.390 x 1076
80 |971.8 0.367 x 1076
85 968.6 0.347 x 1076
90 | 965.3 0.328 x 1076
95 | 961.9 0.311 x 106
100 | 958.4 0.296 x 1076
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